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Tescourt supermarket conducts a survey to find the time taken to be served and the amount of money
a customer spends. The results are summarized as probabilities in the tree diagram below.
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a) If a customer spends less than $50, tmmhty of them taking more than four minutes to
be served is 0.25. Complete the probabilities for the above tree diagram.
b) Calculate the probability that:
(1) the customer spends $50 or more. O . ?) i
) the customer waits for more than 4 minutes and spends $50 or more. O a L‘f
c) Given that the customer waited for more than 4 minutes, find the probability that they spent

$50 or more. PC:SO"H’)’ (>5Or\>"\3 0.4 Hq

=z
An opinion poll was conducted in a small country to determme who Wil receive the m(ﬁqotes in
the next election, the Blues or the Reds. The results are split into two age groups as seen below.
Blues | Reds | Totals
30and Under | 120 | 30 | 200

Over 30 770 | 120 | 300

o1

Totals 290 [AIO | 500
a) Complete the table. 120 _13
b) Using the table, or otherwise, find the probability of a person over 30 voting for the Reds.” 200 " ‘3—0‘
c) Given that a person is votmg Blue, find the probability of them being over 30. h
10/2q0 = 7y
A student chooses between Mathematics SL and HL only. The probability of choosing SL is 0.6. If
the student chooses SL, the probability of them choosing Further Maths is 0.2. If the student
chooses HL, the probability of them choosing Further Maths is 0.5. .
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0.2
SL
0.6 C B
O% Not Further Math 0 L{% St & F
O 15) Further Math (), ) HL<+FM
0. L‘ HL i
O|5 Not FurtherMathD.?, HL 4’@ }’m
a) Find the probability of a student choosing not to do Further Math. 042 +O.2 “{O‘(o% '
b) Given that the student chooses Further Math, what is the probability that the student has

chosen SL? L _Fm - 'P(gL(\'FTY\) B 0O ‘Xj
P(SL [T S o 0.319
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